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Cobalt-60

Cobalt-60 ist ein künstlich hergestelltes Isotop mit einer Halbwertszeit von 5,27 Jahren. Es zerfällt durch Emission
eines Elektrons mit maximal 318 keV (β-Zerfall) in einen angeregten Zustand des stabilen Nickel-60. Dieser geht
durch Emission eines γ-Quants von 1173 keV in einen weiteren angeregten Zustand über, der dann durch Emission
eines γ-Quants von 1333 keV in den Grundzustand übergeht.
Die Umhüllung des verwendeten Präparates absorbiert die β-Teilchen und damit sind nur γ-Quanten beobachtbar.
Zu beachten ist bei der γ-Spektroskopie mit einem Szintillationszähler, dass die Comptonkante der
höherenergetischen Linie bei 1333 keV eine Energie von 1119 keV besitzt und damit in der niederenergetischen
Flanke der zweiten γ-Linie bei 1173 keV liegt und deren Form verzerrt.

γ-Spektrum des Co-60
Zurück zur Übersicht

www.ld-didactic.com
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σΕ(BNL)~25 MeV 
σΕ(SLAC)~ 2 MeV 
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Resolution effect: 
Smearing of spectrum structures,  
i.e.enlarging peaks, smoothing sharp edges, filling holes or gaps 
 
 
Exercise: 
Evaluate numerically the convolution integral and the effect of an arbitrary 
resolution on a simple sharp distribution like a step-function + a narrow peak. 
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Spettro del prodotto di due segnali  (Convoluzione Calcolo con MATHCAD) 
Abbiamo visto che lo spettro di due segnali sommati [ s1(t)+s2(t) ] è dato dalla combinazione dei 

rispettivi spettri. Diversamente lo spettro del prodotto di due segnali u(t), v(t) non è dato dal 
prodotto dei loro spettri.  
Cerchiamo quindi a cosa equivale lo spettro del prodotto. 
Siano   u(t) ↔ U(ω)    v(t) ↔ V(ω)  i segnali con i rispettivi spettri e  s(t) = u(t)v(t)  il 
segnale prodotto allora lo spettro sarà: 

∫
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−= dtu(t)v(t)e)S( tiωω
 

Se mettiamo al posto di v(t) la sua antitrasformata:  ∫
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Invertendo l'ordine d'integrazione otteniamo: 
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Possiamo perciò riscrivere lo spettro nel seguente modo: 
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π
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L'integrale ∫ −
+∞

∞−
ξξωξ )d)U(V(  .è noto come integrale di convoluzione delle funzioni V e U e 

viene indicato, simbolicamente: V(ω)*U(ω) 
Possiamo allora concludere che lo spettro del prodotto ordinario di due segnali è uguale, a meno 
di un fattore 1/2ππ, al prodotto di convoluzione degli spettri. 

s(t) = u(t)v(t) 
S(ω) = V(ω)*U(ω) 

Ovviamente  V(ω)*U(ω) = U(ω)*V(ω) 
Si può anche dimostrare il teorema inverso: 
•Se lo spettro di un segnale può essere rappresentato come prodotto ordinario di due spettri     
S(ω) = S1(ω) S2(ω) tali che:  S1(ω) ↔s1(t)           S2(ω)↔s2(t) 

allora il segnale s(t) ↔ S(ω) è la convoluzione di s1(t) e s2(t)  nel dominio del tempo. 

∫ −↔
+∞

∞−
ξξωω dtstsSS )()()()( 2121

  
Una interessante conseguenza di questo è il teorema della convoluzione. Esso afferma che la 
trasformata di Fourier del prodotto di convoluzione è equivalente al prodotto ordinario delle 
trasformate. Per dimostrarlo riscriviamo in modo sintetico, indicando con ℑ  la trasformata di 
Fourier, il teorema già dimostrato: se s(t)=u(t)v(t) 

)()(*)()]()([)]([ ωωω SVUtvtuts ==ℑ=ℑ  
se ora facciamo la trasformata (anti) dell'espressione precedente, otteniamo: 
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)]([)](*)([)()()( 11 ωωω SVUtvtuts −− ℑ=ℑ==  
se ora al posto delle due funzioni del tempo sostituiamo le loro trasformate otteniamo  

)](*)([)]([)]([ 111 ωωωω VUVU −−− ℑ=ℑℑ  cvd 
è ovviamente possibile dimostrare, ed è valido, il teorema inverso: 

)](*)([)]([)]([ tvtutvtu ℑ=ℑℑ  
L'importanza di questo teorema è enorme in quanto molti processi fisici si presentano come 
convoluzione di altri e quindi tramite l'applicazione di questo teorema è possibile risalire ai processi 
primari. Questa metodo è noto come deconvoluzione (unfolding) delle componenti. 
 
Convoluzione tra due segnali esponenziali con modello matematico): s(t)=exp(-t) ; v(t)=exp(-kt) 
(Calcolo) 
 (Video-Clip) 
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Dividendo lo spettro del prodotto di convoluzione per lo spettro di uno dei due segnali è possibile ottenere lo spettro 

dell'altro segnale e quindi, antitrasformando, il segnale incognito. 
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Questo procedimento, molto importante per lo studio dei sistemi e dei segnali, è noto come deconvoluzione ( unfolding ). 

Spesso dal punto di vista sperimentale si procede eccitando un sistema con un segnale noto e si misura, acquisendo 

dati relativi alla risposta del sistema, la funzione convoluzione dell'eccitazione e dell'operatore del sistema (incognito), 

quindi si procede alla sua determinazione attraverso il metodo di deconvoluzione che viene eseguito numericamente per 

mezzo della FFT (Fast Fourier Transform). 
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Spettro di segnali non integrabili 

Molte funzioni largamente usate nella teoria delle comunicazioni non soddisfano i requisiti di " 
assoluta integrabilità " richiesta dalla trasformata. Comunque possiamo ancora parlare di spettro di 
tali segnali se assumiamo che questi spettri possono essere descritti da funzioni generalizzate. 

Spettro di una costante 
Sia dato il segnale con il seguente modello matematico .u(t) = u0 = costante 

Supponiamo che questo segnale possa essere rappresentato dalla sua antitrasformata: 

∫=
+∞

∞−
ωω

π
ω deSu ti)(

2
1

0
 

in cui S(ω) è sconosciuto. Invocando le proprietà della δ, si può vedere immediatamente che la S(ω
) deve essere: S(ω) = 2π u0δ(ω) 

Infatti: 

∫=
+∞

∞−
ωωδπ

π
ω deuu ti)(2

2
1

00
 

Quindi lo " spettro " di una costante ha solo la componente a frequenza ω = 0. 

Spettro di un esponenziale complesso 
Sia tiets 0)( ω= il modello matematico del segnale con ω0 nota.  

Si vede chiaramente che s(t) non gode della integrabilità assoluta in quanto per t → ±∞, essa non 
tende a nessun limite finito. Ciononostante possiamo scrivere la sua antitrasformata: 
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while the means, the variances of the single variables and the covariance between pairs
of variables are:

E[ni] = Npi(45)

V ar[ni] = Npi(1� pi)(46)

cov[ni, nj ] = �Npipj(47)

With reference to Eq.22, it can be seen that the correlation coe�cient between a pair of
multinomial variables is:

(48) ⇢[ni, nj ] =
pipjp

pi(1� pi)pj(1� pj)
=

r
pipj

(1� pi)(1� pj)

This formula shows that the correlation coe�cients become close to 0 when the single
probabilities are small. This happens when the histogram is distributed over a large
number of bins.

2.6. Statistical inference. We have seen the distinction between samples and popu-
lations. When performing a measurement normally we have a sample and we aim to
say something related to the population. The process of doing this, is called inference.
We formalize this procedure using a very simple case, the case of the measurement of a
quantity x. We outline here the conceptual scheme.

Let’s consider a physical observable x and suppose that a ”true value” of this variable
xt exists. Let’s suppose that xt is known, for example because it has been already
measured with an extremely better accuracy with respect to the one of our measurement.
Now we perform our measurement and by repeating a large number of times, say close
to 1 times the measurement we determine the resulting f(x).

We call µ and �2 the mean and the variance of the f(x) respectively and we define
� = xt � µ. Fig.3 shows the definitions of the relevant quantities in an example.

Now we perform a measurement and we get xm. We define measurement error the
quantity

(49) � = xt � xm

that is the di↵erence between the result of the measurement and the true value. We can
write this di↵erence in this way:

(50) � = xt � xm = (xt � µ) + (µ� xm) = � + �m

so that the error can be decomposed into the sum of the distance � between the true
value and the mean of the pdf of the measurement, and the distance �m between the
outcome of the measurement and the mean of the pdf of the measurement. �m is a
random error due to the sample and it depends on the statistics we have: if we perform
N repetitions of measurement, they will be distributed according to the f(x) and the
mean will have a distance from µ that will decrease as 1/

p
N . � is a systematic error,

due to the fact that the response function of our apparatus doesn’t give xt as mean: it
is the error that remains in the limit of infinite statistics.

Notice that � is the measurement error. It is possible to evaluate it only if xt is
known. Normally xt is not known, so we cannot calculate the error, but we have to
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Figure 3. Example of a gaussian response function (red) with µ and �
and comparison with the true value xt. � is the systematic error. The
outcome of the measurement xm is distributed according to the apparatus
response function. The length of the double arrow indicating the � is
actually the function FWHM (full width half maximum) that in case of
a gaussian function is FWHM=2.36⇥�.

estimate it and its estimate is the so called measurement uncertainty. In the following
we will use the words error and uncertainty with these two meanings.

Now we invert the process: we get xm from our apparatus and we want to say some-
thing about xt. This requires two steps: first we have to use statistical methods to pass
from xm to µ; then we have to estimate possible systematic errors and correct for them
or to take into account them as additional uncertainties. The statistical step is the real
inference procedure. In the following (sect.5.6) we will review the two main approaches
to statistical inference: the bayesian approach and the frequentist approach.



Counting 
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�  So we do collisions at a given √s. What do we actually 
measure ? 

�  We “count” the number of times a final state is obtained. This 
frequency is somehow related to the probability of that final 
state and so it allows to measure the cross-section/decay 
width/branching ratios 

�  Connection btw probability and frequency: 
�  Population ! probability 
�  Sample ! frequency 

�  Sampling fluctuations 



Random Variables – Outline - I 
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�  Concept of PDF 
� Meaning and connection to actual probabilities 
� Discrete vs. real variables 
�  Single vs. multiple variables: factorization 

�  Definitions/properties 
�  Physical dimension, positivity, normalization 
� Momenta ! “functional” 
� Mean, variance, standard deviation, skewness, kurtosys 
� Covariance matrix 
�  Propagation 



Random variables - II 
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�  The average and the RMS: two particular and interesting 
random variables, functions of random variables 

�  Few random variables that allow to have good statistical 
models of typical situations in experimental physics: 
�  Binomial 
�  Poissonian 
�  Exponential 
� Gaussian 
� χ2 

�  BUT: up to here only “populations” 
�  =>Statistical inference 



“Logic” of an EPP experiment - I 
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�  Collision or decay: " process to look at 
�  Initial state (proj. + target) OR (decaying particle); 
�  Final state X = all particles produced 

�  Quadri-momentum conservation should always be at work 
�  In principle there is no need to measure ALL final state particles: a 

final state could be: ! µ+µ- + X (“inclusive” search) 
�  Possible final states: 

�  a + b ! a + b : elastic collision (e.g. pp! pp) 
�  a + b ! X : inelastic collision (e.g. pp!ppπ0) 

�  The experimentalist should set-up an experimental procedure to 
select the final state he/she searches. First of all he should be able 
to count the number NX of final states X. 



Why count ? – I  
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�  Why count  ? 
�  Because QFT based models allow to predict quantities (like 

cross-sections, decay widths  and branching ratios, see 
later) that are proportional to “how probable is” a given final 
state. 

Example of collision: 
X == q qbar g 

Example of decay: 
X == e νe νµ



Why count ? – II  
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�  Given a collision or a decaying particle you have several 
possibilities, several different final states. 

�  So: if I have produced N initial states (either a+b collisions or 
decaying particles), and out of them n times I observe the 
final state I am looking for, I can access this probability that 
should be ≈ n/N 

�  Let’s introduce the concept of Event: 
� The collection of all the particles of the final state from a single 

collision. 
�  It is a collection of particles with their quadri-momenta. 
�  Be careful not to overlap particles from different collisions. 


